November 6, 2018

Unit 3: Dynamics

3.1 Newton's Laws

Dynamics: the study of the forces that cause change in a system.

Aforceisa push ora pull exerted on an object. Forces can cause objects
to speedup , slowdown ,or change direction as they move.

Newton's Laws

1st: An object at rest will remain at rest and an object travelling at a
constant velocity will continue travelling at a constant velocity unless
acted upon by an unbalanced force.

ex. A car accelerates around a corner and encounters ice. When the car
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2nd: The acceleration of an objectis inversely proportional toits mass
and directly proportional to the unbalanced force applied to it. It should be

noted that Force is a vector. W t
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Note: one Newton is about equal to the force of gravity on an apple.

In the 2nd law, we are always referring to F, the overall force on an object.
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ex. A slingshot imparts a 10 N force on a 10 gram stone. What is the stones
acceleration?
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Ex. A Formula-1 race car can do 0 to 100 km/h in 2.5 seconds If the car and
driver weigh 800 kg, what if the net force delivered by the car? LFM MI

RNV \} = O o\ A\f
] = ook /h At
— 271 s —23r71-0
N =25 S ﬁ2
- g SERL
NDL — Kﬁ;@b \LQ)X (( y % >
’ %X%ﬁﬁi4,~~«

(7X/ 0 i N \ er M&\

3rd: For every action, there is an equal and opposite reaction

@ttps://www.youtu be.com/watch?v=kKKM8Y-u7ds

practice: photocopy #3 - 12, 19ac, 20ab, 21, 23, 25, 27, 30
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